3E : BAMLIER O HHEY% EEELK FEEKESREK
1.5 #|EAERX - BELREAR

fE=E
EA 5 Va3 =|22] 2R, (FHETIHER)

B r+2=\Az + 9 EHTcT x 0)1lﬁﬂil:lf“&)@, T+2<+Vir+9%
izt oz QORI |Th s, (RIET3K)

EA 5 Ve -3 < Ve 5z 2Rt e O] | Ths,
CRBEERER)

Frvo - FIvo

EO - ##E<R, 7770 & R o SA R - RS2 O T E
TH, KDL CRELERTH L bTEET,

A= RB?

e VA=B — {Bgo

A< B?
e VASB < { A0
B>0

B<0 B
e VA> B «— {AZO /i {



3E : EHLBIR O HHBY% SEEHK FEHEAIRELK

\/x—i— =|2z| <= z+3=4z"
42—z —-3=0

(4z+3)(z—-1)=0 .. w=—%,1
S 2+ 2=VAz + I DOWINE 2FT D & Yy
(x4+2)?>=42+9
22-5=0 . z=+V5 y=vidr+9
FHHEY, FRKX 2+ 2= Vdx + 9 OffIX
w:x/g _% /
REEX x4+ 2 < Vdx + 9 OffT /‘(—2
_9 < N
g o<V y=a+2
@) z+2=+Az+9
r+220
(m+2)2:4m+9

I\

x> —2 x> -2
< <~
z22—-5=0 x=+V5

z =5
Ed
r+2<+V4r+9
z+2<0 - z+22>0
ar+9>0 | (z+2)?%<4z+9
T <=2 = —2
= 9 ElIX 5
xz—z z°—-5<0
<=>—%§m<—2if:li—2§m<ﬁ
<=>—%§x<\/5
m\/7w—3§\/—w2+5w
= 0<7r—3< —2®+5z
Tx—320 2> 3
= ) = -7
z°4+2x—-320 z+3)(z—1)=<0
3
> 3
— =T
-3<z<1
@%§m§1



